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INSTRUCTIONS TO CANDIDATES
1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc. |f
any of the above defects is found, get it replaced by a Complete Question Booklet

of the available series.

2. Write clearly the Question Booklet Version Code A, B, C, D orE, in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and aﬁlx
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately. .t

4. This Question Booklet contains 85 questions, Part — A contains 40 questions of
one mark each and Part — B contains 15 questions oftwo marks each. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a _given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada

version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer
Sheet is collected. After handing over the OMR Answer Sheet to the Invigilator

you may leave the examination hali.
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Choose the best option. Each question carries 1 mark. (40x1=40)

FRNT, FOCIRT LVBTHI), LSOO, T3 TIT Lot 0%,

1. The study of genes, heredity and variation in living organisms is called

a) Cell biology b) Ecology
c) iImmunology d) Genetics
SoBENYR), BRITOSTODTY, Tore REDNFOT TR OO DERI LT 0DV,
QOT FEODRNIBE,
a) 3ReB Y b) ZTORT
C) 808 d) 2335
2. Third generation biofuels are made from
a) Animal fats b) Agricultural waste
c) Aigae d) Engineered plants
BRTRE BSTROT WT aodﬁﬁ%*dgt 0TI BOZRORTRNIBT.
a) 9%, BRWONTL b) X%,
C) ol d) QOAOITTF BN

3. Name the Indian American origin astronaut who took over as the commander of
International space station as a flight engineer in 2012.

a) Rakesh Sharma b) Kalpana Chawla
c) Sunita Williams d) Tessy Thomas

eoédoa%eod) mmgmeﬁ Eberamsacﬁ BEI0T3T* €3N 330822012 0, R, QOTI0TT SN
TOOIF T, [EABLOT ZIDTSCD 23008 AROT NNCING '

a) To%eD* Badof b) sOTD .
C) ROQeTo LAODRT. d) &R TR
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4. Firstmanned landing on the moon was done using

a) Apollo 9 b) Apolio 10
c) Apolio 11 ' d) Apolio 12
30T WO TINVRR WRTED 52D _ ) LIVREROT.
a) eIgpeesne 9 b) @pecdee 10
C) edpecine 11 d) egpecine 12
5. The Industrial Revolution began in country.
a) Germany b) Britain
c) Russia d) America
g 00% 59,087 LT BRTO Te _
a) WROFR b) We3x*
C) Oa®, d) o30.5°. .
6. Global warming is primarily a problemoftoomuch  inthe atmosphere.
a) Carbon dioxide b) Oxygen
c) Hydrogen ,h d) Nitrogen
TR, BUT 03 __ QBTOOT NS TTERY TR,
a) QoMU BB T b) wa0xT?
C) RTERR’ d) oTRI3
7. Genetics is the study of
a) heredity b) cell structure
c) plantlife d) human evolution
D0DIDEROI eﬂz%oi)q@ B SN eﬂqgodﬁmﬁd
a) LR0W0dTI b) 23ee580e3 T3S
C) :5:% zﬁedamz"é d) TRID DFOR
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8. Evolution is the study of
a) structure of plant or animal
b) life on earth and in space
c) change in plant life
d) evolutionary processes that produced the diversity of life on Earth
QTR B3 FENGS LT3, 030TTONTS
a) AR, G0 T VWS '
b) FRa00D Boeed B DRPTAT BT
C) AR, WeDI0D, N AISPIN
d) DFTTZTROT 230 0O LTSI dej&)z%éodﬁi SVU0EIDTIRBTY

9. Chernobyl nuclear disaster happened in

a) USA b) Finland
c) USSR d) Hungary
23[R0 W VORIED TVCOD_____ SO RO,
a) O30, IR°. . b) 59 0T
C) O300.DAF. IR, ST, ~ d) Joried

10. The term ‘operation flood’ refers to

a) Flood Control b) Milk Production

c) Foodgrain Production d) Population Control
' SRTCRY PE* Q0L BB facﬁaigt RRWRIST,

a) WE3eD 030D b) oL VBT

C) ST LR, CVUSIBI d) WSROI, VOI0ZER

UN - 676
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11. Aristotle was an ancient philosopher.
a) French b) Greek
c) ltalian d) Chinese
eIDREIT L), SADRAL 32 2RQD.
a) o b) Nez*
c) aEpOT’ -~ d) 286D

12. ‘Origin of Species’ was written by

b) Weismann

a) Oparin

c) Lamarck d) Darwin
‘2023 ST ACAR” SO 20803

a) wOX° b) 379,
C) CORITF d) woNFS®

13. The energy associated with motioniis called

a) Potential energy b) Chemical energy

c) Kinetic energy d) Physical energy

2303030 B0L0EBTONTIEI SO 0T BBOIOTINIBT.
 a) ©033 33 b) ComRO3T BB

c) BOI B3 d) &3&5 2%

- —
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14. suggested that Sun was at rest near the center of our solar system

and that the Earth, spinning on its axis once daily, revolves annually around the
Sun

a) Plato b) Copernicus
c) Ptolemy d) Aristotle

3T BT 306 3DV ROBITI L0, FOTRBE $0TTATI ARODF S 202
33 R0BR) BRYRLD 2,080 FRFRI), IRRBRNFS 20w VeSS

a) FeLdoe b) BRTNF TS

C) 3OS d) SOmWST
15. TCP/IP is a

a) Hardware b) Software

c) Internet protocol suite d) Virus

232/ 20 SR,

a) TOT*FRCT° b) mogrs5eT?

C) BOLIIEEF LTI A0LS ~d) o5, 0R°

16. The observed increase in the average temperature of the air near earth’s surface
and oceans in recent decades indicates

a) Environmental change b) Global warming

c) Health change t d) None of these

2SeUT TIINYY N=OTT, 20QTO Tort LR Rdeed | =B FONONE CSROTORD
MMOPO3) FTORO SOWIINITY NOFOIV I +) RAWROBT.

a) TOBITOLITI WRTORTD b) 23NST ToWRID

C) BTREN, WTUINH d) |RNFY IR Q.
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17. The prefix “nano” comes from a

a) French word meaning billion b) Greek word meaning dwartf

C) Spanish word meaning particle d) Latin word meaning invisible
ﬁﬁd?@%o& ‘@Sﬁfae’ 2008TIHTO
a) WO Q0% 7,023 BLOT D) B QCWTF T NEF® TTLOTS

C) BEQOWRF T AR JD° WDHDOTI d) @C);% AT T R, 8357 WTEIOTI

18. The process of introduction of weakened pathogen into human body is called
a) Immunization _ b) Vaccination

c) Attenuation d) Transformation

COWEONROB df@@ﬂ’@dﬁﬁ@é@{ TR DT aﬁ@zﬁo@oﬁo@dﬁa 3,030
DO TS ocbemrbé z.

a) VDR, BERD D) 39,35 ek’

C) ©T,030eHED? d) 30,0750 €D

19. Photonics is a field concerned with
a) Generation of light b) Amplification of light
c) Modulation of light d) All of these

RPLIRERT N ﬁowodw% 200030 3¢ C3ONT.

t

a) WS YUZLS b) W30 e S
C) LTI BT, 008 d) SoedT e
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20. Who announced the introduction of National Food Security Act ?

a) Pranab Mukherjee b) Manmohan Singh
c) P.Chidambaram d) Arun Jaitley

oy, 60 3BT P @od%ododgt 23001 303E3TO
a) 9T WD b) ROJBReBR® A0N*
C) &.WTHOWTO d) ©o0s® et

21. Which of the following State is the largest producer of Milk 7

a) Maharashtra b) Gujarat
c) Andhra Pradesh d) Uttar Pradesh

83 BHYFOT O3 D% T YVBHTFODNY 30300080 ANWIT ?

a) mmoaagg b) MoxToS*
C) 00, BT d) SUB0REED

UN - 676

22. Microbes that produce chemicals which inhibits the growth of other microbes in

the same habitat are exhibiting

a) Commensalism b) Mutualism

c) Antagonism d) Parasitism

ST3e B0R AIJDD, BB ART, £A0LICINT LIFIETTODR, 57 8I0RRII TIRDOIIBNTE,

SUBIDRT RRT, £ICINH BT, BTHFAIT,
a) ADWED, b) XTRTIT®0LT

C) SFes), d) Zoozm©o

SPACE FOR ROUGH WORK
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23. The change of heritable traits of biological population over succesive generations .

Is called

a) Exploration b) Evolution

c) Experimentation d) Pollination

BSBRTONPOTOR  WONTIRD LT WIW03030Y FOTBIWTIT EITORD0BT  OLING
WTRDFBNGR, _ QOTI) FTOZ0ST.

a) TOBRETI b) amnuR =S’

C) 39,03ReNE3 d) oINS

24. The full form of PSLV is
a) Polar Satellite Launch Vehicle
b) Passive Satellite Launch Vehicle
c) Precision Satellite Launch Vehicle

d) Penumbra Satellite Launch Vehicle

2. oOR°. . D). O RPEIF TRID_____ SN,
a) TPCLDT® D3 D0 FBLT

b) TR AR EIES Co0LF® &TEE

C) QAR A, WL TS BB

d) SSow), 7L Cooes® 5BCF

25. The founder of Mathematical analysis

a) Madhava b) Aryabhata
c) Sushruta d) Hanneman
e Zo%, 00 DBEHREAD QTROB |

a) DL b) e3030F 2783

c) RT3 d) Sﬁqﬁo&‘

il il
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26. Indian Space Research OrganiSations rocket launching pad is located at

a) Srikakulam . b) Srishailam
c) Sriharikota d) Sulurpet
,TOT3E0T LWIRTR, T AOBRCLT :J"ofgpcdz TBE3® YUTTITITTD FCOTT

a) 958000 b) &ezoc

C) 3exmOBRCES d) BO0LRT T eL3®

27. The former name of Nuclear Reactor is

a) Atomic Reactor b) Nuclear Reader
c) Atomic Pile d) Atomic Weapon
SHOIRIPIOG 60633?559 S RO TRTI ST

a) SERLIT OOIRFT? b) 2009600 OewT®
C) ©ERET FOF d) esednedios JITTE

28. A group of satellites make up the

a) Constellations b) Galaxy

c) Global positioning system d) Milkky way

SUTNING AT @“da% CRRITT.

a) JBZEYORND b) mo,w8

C) 3.7, d) T T
29. Telescope was discovered by

a) Ptolemy b) Copernicus

c) Einstein d) Galileo

BRSEBF SR, SO0 BRAE)

a) €320 D) 8RI0ES°

C) N, d) NOD3ee
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30. _ i is not a deficiency disease.
a) Anaemia b) Goitre
c) Hepatitis d) Scurvy
BRTS03D BRNDL,
a) U8&ex3 b) n¥now
C) DRI d) 30,

31. The first ever artificial satellite to orbit the Earth was

a) Sputnik b) Explorer
c) Vostok d) Aryabhata
230 ééj ToOAT BRTO VBN D

a) Q&iﬁf b) & FRTT?
C) ORRF d) 033

32. Darwins theory of evolution is based on the concept of

a) Use and disuse b) Mutations

c) Natural selection d) Divine creation

300.° TR %@poécﬁ DOTLRVCIN eSTIORT,

a) P8 BB WFYICRY ~ b) CRTOBTNTI)

C) JANFT 030D d) BT FAEIID
33. __ is not an example of renewable source of energy.

a) Wind power b) Biomass

c) Electricity d) Solar

- SN EBORLITITTOT RUDOTE JFORD LYVTOHOT L),
a) oW DN0° b) Bex3Tod
C) QT d) %3

T 0
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34. The movement of genetic information from one population to another is called

a) Genetic Drift b) Genetic equilibrium
c) Gene frequency d) Gene flow

250030 RTR0S3, 020083 OBQ 0TV &RBR0SST L3DRID LRT0ET 332830303
Q0T FTONTINIBE.

a) 3L B’ b) 2¥3e35° BB RO
C) O 313F S d) 23ex° BOR)

35. The branch of science which deals with the study of eyes and its nerves is

called

a) Oncology b) Neurology

c) Ophthalmology d) Otology

BERNED  TBY WIIT JIONG W, 00T, AOWOREES, T30 DOT
FCO0TINZT.

a) 30T b) SR.TowRE

C) JeBRP d) BEaF R,

36. Which factory was considered as a symbol of new era in England in the late
18t century ?

a) Iron and Steel b) Metal

c) Jute d) Cotton

18 ¢ ZBRRIT LVBTTF T BOTORT CI0E3 280D s‘ﬁodmgL BRA CIONT ROBESTIN
TONEIRTON) " |

a) BWED 0B YU b) &nex

C) R d) &
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37. Which of the following processes acts to remove carbon dioxide from the
atmosphere 7

a) Burning of fossil fuels b) Deforestation
c) Photosynthesis d) Lightning
DOTIVOEIOT BOMOOT W8 TR 83 FPNS 0Inas 30300320 SROTOBIST 9
a) TVLO0YT BOPINTI) LYVORITYTO b) <0303
C) TEROTERT d) <002
38. A wind turbine converts kinetic energy from the wind to energy.
a) Solar b) Hydro
c) Electrical - d) Mechanical
200030 TRPCIV0ZEY) MPOI zéwdafgodadgt IBCIIN TOBEF RIS,
a) R0 b) TR
C) T d) odnod3
39. In ancient India the name of Varahamihira was associated with
a) Mathematics b) Astronomy
c) Astrology d) Medicine
TDUED LOTBTE)_ 0T éﬁddoq *. RN AVEEORINGY.
a) N3 b) Onees e D
C) AR 3R d) c%zfgsesa%
40. The science of getting exact copies of desired living organism is known as
a) Copying b) Reproduction
¢) Cloning _t d) Bio-copying
2IODATI 23060030 QDT @éﬁ#ﬁi DTBOINE LI gaﬁaig{ &oer FTORTDNIBT.
a) DTV DTBIHYT b) =mozoteeEd
C) BREJOMN® d) 2T JTL

i i — riailier
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Choose the best option. Each question carries 2 marks. (15%2=30)
FINTE) FOCTIT YUSTIT) SO0, T3 TIT TR 90T,

41. INTELSAT stands for
a) International Telecommunications Satellite
b) India Telecommunications Satellite
c) Inter Elecommunications Satellite
d) None of the above

Q0LITD 'R DR R

a) QOLT ILIIC? 3050R,DTDS° WIS
b) 003 L3OTERTDI | T LT

C) QLT DOFZURITEDI A IS’

d) 0T CIRYTO B,

42. GIS stands for
a) Global Information System
b) Geospatial Informative System
c) Geographical Information System
d) Geological Information System
238° DOTT
a) RRLWST QR FRF BT ARP
b) 2303ReREACITT AR FREF LT AAQ
C) BOA3RETRYBL® B HOROEF IR ARQ

e

d) 203RETVWIST AT GOWICF DI JAQ
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43. Ozone present in the atmosphere acts as
a) artificial filter for absorption of solar radiation
b) natural filter for absorption
c) mediator of earth and sky

d) none of the above

Ssioatetwid Jtote Sk Meviolvo =N BEFROBE.
Q) FST STEAMIT GotOBRWID TIT QOT

D) LtlBRY L0 QTR JANFE QT

C) WD DTy TBTIW SOR.RSF

d) Z00DT CINPTR B

44. Manufacture of water and stain repellent clothing is made using
a) Nanotechnology application
D) Biotechnology application
c) Smart materials

d) Metallurgical Sciences

00 TR BT QURLHDT WENT SCIROTODY 9D WERSNIBE,
a) TALTRETOTIR 0T URTEDT

D) T ST T YUDOIRENDNT
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45. Theory of natural selection dwells on
a) Role of environment in evolution
b) Natural selection acting on favourable variations

c) Changes in gene complex resulting in heritable variations

d) None of the above

TR0 FSTI”S AW B3 FENTYNTS), BOOSTNGS

a) VFPRTO TORTT T

b) ,3,38 RRINTD FAINFT S0HNY Bded3 BT Weddss Suews

C) B0T& 208EOF DA WHTIDHBNTOT LIVV0SEOD YIJNEL SND RWT
d) RB0edT oIRYTR Y.

46. Nuclear fusion releases energy when
a) Uranium splits into two fragments
b) Very light nuclei tuse together
c) Uranium emits a neutron

d) Heavy ions fuse together

TR RNOIOOT T8 SN WEONBOIRNOSE.
a) C30TERCIN0 DTTO LIRTINGITTON

b) ©3,038 BROT IR, FOIF M 2t AOYOTTOTN

C) O3NTEAOI0 TR EII® BRTARLATIN

d) T LOIRTONED 2w RQOTTTN
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47. Choose the best option

48.

a) There is no difference between nuclear fusion and fission

b) Deuterium and Tritium are the two hydrogen isotopes used in a nuclear fusion

reaction

c) Nuclear power can increase the production of greenhouse gases

d) Radioactive wastes generated from thermal power plants may harm the health of
people

xfoloviria 503,030 &30

) TOBREW BNV B0B) WTVVT SBIH RIVANY,

b) TR,E3e00300 F2Y €380300 HTTIER RNV &,38,03000) WHRSINMIT RTRD BRI
ﬁdﬁ%@ﬁ%

C) €ra033 BATORON LAONY Wdﬁwsg{ BUIROZTS

d) v T m@dd@ocﬁ YUBODBEDNIED SIBTED T 25, ST STRET, TooQ LVOLIITITELITIT)

Sickle Cell Anemia, Hemophilia, Tay Sachs diseases are examples of
a) diseases as a result of complications due to HIV

b) diseases where no new cases have been reported since 2000
c) diseases as a result of increased use of genetically modified food

d) dysfunctional gene behavior caused due to mutation or chromosome abnormality

RATOT FHE® L3O, &odReLAIR, &3 A9,28° 0 TRENNDT LVTITTRNGD ?
Q) DRI ADOR,NYOTI YVOEINIE FOCVSNED

b) 2000 Q0o 8323n KR FFTEINR WODCITPNY, ORI,
C) SPCOTTON DOWSF S 3T/oOTT ¢9S0TTT WHF DOTOTVTON LTS TSN
d) [T BPeI B[EOFBOB LATLSCW0TT LVOEINIS 0BeT08NY 335503 9832 §03

ninlienlily
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49. Principle of laser is
a) spontaneous absorption

b) stimulated emission

)
)
c) induced emission
d) bothbandc

SR’ 3@55@ SN
a) o dm@% ZoCTINE

)
b) eVZeRIT BRTALAINT
C) 08 TPTARLRVDT

d) b &2 ¢ QTER

50. Genetic modification of crops
a) Produces disease resistant and herbicide intolerant crops
b) Improves the texture and flavor and increases shelf life of food

c) Can increase the nutritional value of food and create an essential sustainabie

way to feed the world

d) Can produce crops to withstand environmental stress and decrease the yield

IR 3¢ BT

) Srer BRGSE S08) AR TTE AT BERER) SUBIDRIBTS

) CRm %) THRICIR, RIGRORE ) T8 By O TRToE BBFT

¢) SE0R Pa0IRE IRUT BT Fod) STORI) FRFFRECD DL, BN
AOR0S RPEIBT

d) TOR0T WIENIR IBEBAWT Ry BHTO 3R AT NI CPOOLITRTEBIT

———

il . L —
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51. Smart materials are those materials

a) That responds to change in their fossilized and hydrocarbon form

b) That responds to a change either in the temperature, humidity, colour

c) That can be controlled by external stimuli such as mechanical or electric stres
d) b) and c) but not a)

AR £ 03O0 20833 SRANTONGS,

a) TYORVENY Tore BRBBUWFI'T CRTVEOS BB 3800 R D RRITOBH)
D) 058, ST 3 Tore WP wenesr B és ol R FDRRIEI 0SB0

C) Wom DWRCCTENTDT 00T e ND3® WITBNS ROT QORI 0BT

d) bxonnc o3 (a) 8. ‘

52. Which of the following statements are true ?
I. Lasers are used in optical disk drives and bar code scanners
Il. Lasers are yet to be used in printing technology

. Lasers are used in fiber-optics and skin treatments

Iv. Laser was one of the major inventions of The Enlightenment Age
a) 1 and ii only b) iit and iv only
c) iand iii only o d) i, i, i and iv
BENS BeBNSE)_ ::facmadcﬁ% CSRRYT ?
. deﬁo’o‘r{@di QNS BR°, B & Ns0 308 L00° Bz R, DONTY WIRRRZB3,
. efe:.;"’ofn’#dzt cletan qﬁ RT3, EITD. facdrgt LY.
i, SeR0NTRY oo QN T &) wW0F T W3NG WIS
V. Sea0° 233 Sersodd 030ns Tz SATONTS, %083

a) | IR i Zn3 b) i S5 iv =3
c) i &3y iii =3 d) i, i, iii 3 iv
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53. The electrical output of a solar cell depends on the

a) Intensity of solar radiation b) Heat component of solar radiation
c) Ultraviolet radiation d) Infrared radiation

90 2303806303 DTS YUTIHIOI0 IR LWOOVAT,

a) AP0 QITEIT Se3 D) R0 QJTLIT SO 5383%

C) SeOPOSCB BOED d) 30T NFTED

54. Which among the following is not an adverse environmental impact of tidal

power generation ?
a) Interference with spawing and migration of fish

b) Pollution and health hazard in the estuary due to blockage of flow of polluted

water into the sea

c) Navigation hazard

d) None of the above

m%déb@éaod m@@éﬁm%d modoraﬁ_i’gomod TOROT 0 BN T, 8BRV 2ORT
DOTTORONGE) B3 FPNIINTE 0T & 7

a) QEIONE VOO, BRTETVONIYTO

b) TROTE Jedn BB BOY) 20T FERRBIIY OO RBNBT BRI FLORES TN
esBREME RSO '

C) BO ROWTTE) LBIR

d) ST CANRPTR VO

bl P arbale Sl il
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55. Match the items in Part — A with appropriate alternative in Part—B :

Part— A

1) Biotechnology

i1} Material science

i) Information technology

a) i—c,ii—d,lil—a
b) i—c,ii—Db,lll—a
c)i—c,ii—a,lii—Db
d) i—a,ii—b,li—a

3T o T3 ARTIIVTI IO W BRODA

2N - X
1. WdRetITLL
2. B[R WP
3. B&330SRY

a) 1-9,2-833-%
b) 1-9,2-,3-
c) 1-%,2-¢53-¢

d) 1-¢,2-¢,3-8%

Part—B

. Quantum dots
. Spintronics
. Gene therapy

. Swarm Robotics

LJom -

. Eadowo wa&s:
. &od@e&)ﬁ;
. 3083

83 &% BRLINCLITT
& ~
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